
PROFESSIONAL EXAMINATION BOARD
Police Constable Recruitment Test ­ 2016

7th August 2016, 03:00 PM
Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

In the following diagram. / िनη आकृित मg

Circle S stands for households having a scooter;/ वृ̃ S उन पᤀ漄रवारो ंको दशाᤀ漄ता ह,ै िजनके पास
Чूटर ह।ै

Circle T stands for households having a TV set; / वृ̃ T उन पᤀ漄रवारो ंको दशाᤀ漄ता ह,ै िजनके पास
टीवी ह।ै

Circle W stands for households having a washing machine; / वृ̃ W उन पᤀ漄रवारो ंको दशाᤀ漄ता ह,ै
िजनके पास वािशगं मशीन ह।ै

Circle C stands for households having a car. / वृ̃ C उन पᤀ漄रवारो ंको दशाᤀ漄ता ह,ै िजनके पास कार ह।ै

Note: The different numbers indicates the non­over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / Ⰲान दg: Ⰲान दg: अलग­अलग सᜀं꼄ाएँ अनितҐापी
䤀퐅jेो ंको सिूचत करती हġ। उदाहरण के िलए, S 䤀퐅jे 1,11,12,8,9,10 और 6 के सघं को दशाᤀ漄ता ह।ै

Households having car but not washing machine are indicated by / व ेपᤀ漄रवार िजनके पास कार
ह ैपर वािशगं मशीन नही ंह ैउनको कैस ेदशाᤀ漄या गया है

Union of region 6,10 and 4 / 䤀퐅jेसघं 6,10 और 4

Region 3 / 䤀퐅jे 3

Region 13 / 䤀퐅jे 13

None of these / कोई नहीं



Correct Answer :­Union of region 6,10 and 4 / 䤀퐅jेसघं 6,10 और 4 

2)

Question Stimulus :­

1. A,B,C,D,E,F and G are sitting on a wall and all of them are facing east / A,B,C,D,E,F और G
एक दीवार पर पवूᤀ漄 की ओर मखु िकए îए बठैे हġ

2. C is on the immediate right of D / D के िबलकुल बाद दािहनी ओर C ह ै

3. B is at an extreme end and has E as his neighbour / B िबलकुल आखीर मg ह ैऔर E उसके बगल मg है

4. G is between E and F / E और F के बीच मg G ह ै

5. D is sitting third from the south end / दि䤀퐅ण छोर स ेतीसरे эथान पर D बठैा है

 

Which of the following pairs of people are sitting at the extreme ends? / Ґᤀ漄őयो ंके िनη मg से
कौन स ेजोड़ ेिबलकुल आखीरी छोर पर बठैे हġ?

AB

AE

CB

FB

Correct Answer :­AB 

3)

Question Stimulus :­

Which date will fall 30 days after 28th March? / 28 माचᤀ漄 स े30 िदनो ंके पЖात कौन सी िदनाकं पड़गेी?

27th April / 27 अĸलै

26th April / 26 अĸलै

28th April / 28 अĸलै

29th April / 29 अĸलै

Correct Answer :­27th April / 27 अĸलै 

4)

Question Stimulus :­



In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the
third word. / िनη ĸЍ मg, पहल ेदो श一稃ो ंके बीच िकसी ĸकार का कोई सबंधं ह|ै िनη िवकώो ंमg स ेचौथा श一稃 चिुनये
िजसका तीसरे श一稃 के साथ उसी ĸकार का सबंधं ह|ै

POET : POEM : : COMPOSER : ? / किव : किवता :: सगंीतकार : ?

MUSIC/ सगंीत

SONG / गीत

DANCE / न竼ृ�

NONE OF THESE / इनमg स ेकोई नहीं

Correct Answer :­MUSIC/ सगंीत 

5)

Question Stimulus :­

The area of which Union Territory is spread over Kerala, Tamil Nadu and Andhra Pradesh? / िकस केΚ शािसत
ĸदशे का 䤀퐅jे केरला, तिमल नाडू और आkंĸदशे मg फैला îआ ह?ै

Lakshadweep / ल䤀퐅¸ीप

Andaman and Nicobar Islands / अडंमान और िनकोबार उप¸ीप

Puducherry / पदुŵुरेी

Dadra and Nagar Haveli / दादर और नगर हवलेी

Correct Answer :­Puducherry / पदुŵुरेी 

6)

Question Stimulus :­

What is the day on 9th June 2001? / 9 जनू 2001 को कौन सा िदन ह?ै

Monday / सोमवार

Saturday / शिनवार

Wednesday / बधुवार

Thursday / गħुवार

Correct Answer :­Saturday / शिनवार 



7)

Question Stimulus :­

Select the statement that is the negation of the statement "All mountain towns are
quiet." / उस कथन को चनुg जो इस कथन का ĸितवाद ह ै"सभी पहाड़ी शहर शातं हġ”

No mountain towns are quiet. / कोई पहाड़ी शहर शातं नही ंह।ै

Some mountain towns aren't quiet. / कुछ पहाड़ी शहर शातं नही ंहġ।

Some mountain towns are quiet. / कुछ पहाड़ी शहर शातं हġ।

All quiet towns are mountain towns. / सभी शातं शहर पहाड़ी शहर हġ।

Correct Answer :­Some mountain towns aren't quiet. / कुछ पहाड़ी शहर शातं नही ंहġ। 

8)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकώ
चिुनए,जो तकᤀ漄 की 〄だिЊ स ेनीच ेिदए गए कथन के समान ह ै:

If I wear sari, then I go out for a party. / यिद मġ साड़ी पहनती ĩ,ँ तो मġ पाटᤀ䔅 के िलय ेबाहर जाती ĩ।ँ

If I don’t wear a sari, then I don’t go out for a party / यिद मġ साड़ी नही ंपहनती ĩ,ँ तो मġ पाटᤀ䔅 के
िलय ेबाहर नही ंजाती ĩँ

If I go out for a party, I wear a sari / यिद मġ पाटᤀ䔅 के िलय ेबाहर जाती ĩ,ँ तो मġ साड़ी पहनती ĩँ

If I go out for a party, then I don’t wear a sari / यिद मġ पाटᤀ䔅 के िलय ेबाहर जाती ĩ,ँ तो मġ साड़ी नहीं
पहनती ĩँ

If I don’t go out for a party, then I don’t wear a sari / यिद मġ पाटᤀ䔅 के िलय ेबाहर नही ंजाती ĩ,ँ
तो मġ साड़ी नही ंपहनती ĩँ

Correct Answer :­If I don’t go out for a party, then I don’t wear a sari / यिद मġ पाटᤀ䔅 के िलये
बाहर नही ंजाती ĩ,ँ तो मġ साड़ी नही ंपहनती ĩ ँ

9)

Question Stimulus :­

In a row of boys. A is fifteenth from the left and B is fourth from the right. There are three
boys between A and B. C is just left of A. What is C’s position from the right? / लड़को ंकी एक
पᤀं漄ő मg A बाएं स ेपΚहवg эथान पर ह ैऔर B दािहन ेस ेचौथ ेэथान पर ह।ै A और B के बीच तीन लड़के हġ। A के ठीक बाएँ
पर C ह।ै दािहन ेस ेC का sा эथान ह?ै

9th



10th

12th

13th

Correct Answer :­9th 

10)

Question Stimulus :­

The Meghadhoot garden is located at ______. / मघेदूत बगीचा ______मg ᤀ漄эथत है

Indore / इќ दौर

Ujjain / उ䬀䬄 जनै

Mandu / माй डु

Gwalior / ѓ वािलयर

Correct Answer :­Indore / इќ दौर 

11)

Question Stimulus :­

The First Amendment to the Constitution of India made changes in____./ भारत के सिंवधान का पहला सशंोधन ___
मg पᤀ漄रवतᤀ漄न था।

Fundamental Rights / मौिलक अिधकार

Directive Principles of State policy / रा伀稁 के नीित िनदĝशक िसᔄातंों

Election of President / राЊᤀᘅपित के चनुाव

Election of Prime Minister / ĸधानमjंी का चनुाव

Correct Answer :­Fundamental Rights / मौिलक अिधकार 

12)

Question Stimulus :­

The national song was composed by / राЊᤀᘅ गीत इनके ¸ारा रचा गया था:

Bankim Chandra Chatterjee / बिंकमचΚ चटजᤀ䔅

Mohammed Iqbal / मोहκद इकबाल



Jai Shankar Prasad / जय शकंर ĸसाद

Rabindranath Tagore / रिबΚनाथ टगैोर

Correct Answer :­Bankim Chandra Chatterjee / बिंकमचΚ चटजᤀ䔅 

13)

Question Stimulus :­

Which of the following is a NOT leap year? / िनη मg स ेकौन एक लीप वषᤀ漄 नही ंह?ै

1976

1984

1934

1948

Correct Answer :­1934 

14)

Question Stimulus :­

Find the word that represents the category of the following three words. / वह श一稃 倀ꔃात कीिजये
जो िनη तीन श一稃ो ंकी mणेी को दशाᤀ漄ता है

Honesty, Credibility, Reliability / ईमानदारी, भरोसा, िवЌसनीयता

Quality / गणु

Dependability / िनभᤀ漄रता

Character / चᤀ漄रj

Nicety /  सफाई

Correct Answer :­Quality / गणु 

15)

Question Stimulus :­

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form
meaningful word. / श一稃ो ंके अҐवᤀ漄эथत अ䤀퐅र नीच ेिदय ेगय ेहġ| ĸ竼�के अ䤀퐅र को सᜀं꼄ािकत िकया गया ह|ै वह
िवकώ चिुनय ेजो साथᤀ漄क श一稃 की रचना के िलय ेसᜀं꼄ाओ ंके iप मg अ䤀퐅रो ंका सही ïम दतेा ह|ै

L A E M V R



1 2 3 4 5 6

1,2,6,4,3,5

4,2,6,5,3,1

5,3,6,4,2,1

6,3,1,4,2,5

Correct Answer :­4,2,6,5,3,1 

16)

Question Stimulus :­

Who among these Prime Ministers was not born in Allahabad? / इन ĸधानमिंjयो ंमg स ेिकसका जΥ अलाहाबाद मg
नही ंîआ था?

Jawaharlal Nehru / जवाहरलाल नहेi

Rajiv Gandhi /  राजीव गाधँी

V.P. Singh / वी. पी. िसहं

Indira Gandhi / इिंदरा गाधँी

Correct Answer :­Rajiv Gandhi /  राजीव गाधँी 

17)

Question Stimulus :­

The day­to­day administration of a Union Territory in India is looked after by a­ / भारत मg कgĵशािसत राजय्ो ंके
िदन­ĸितिदन ĸबधंनो ंकी दखेभाल इनके ¸ारा की जाती ह­ै

Council of Ministers / मिंj पᤀ漄रषद्

Lt. Governor / उप­रा伀稁पाल

Governor / रा伀稁पाल

The President / राЊᤀᘅपित

Correct Answer :­Lt. Governor / उप­रा伀稁पाल 

18)

Question Stimulus :­



In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different. Choose the odd one out. / िनη ĸЍ मg,
कुछ श一稃ो ंके समहू िदय ेगय ेहġ, जो सभी, केवल एक को छोड़कर, समान हġ जबिक एक अलग ह|ै िवषम वाल ेको
चिुनय|े

ABD

FGI

LMO

STU

Correct Answer :­STU 

19)

Question Stimulus :­

On which river is the Gandhi Sagar dam built?  / िकस नदी पर गाधंी सागर बाधं बनाया गया ह?ै

Chambal  / चबंल

Narmada  / नमᤀ漄दा

Mahanadi  / महानदी

Tawa  / तवा

Correct Answer :­Chambal  / चबंल 

20)

Question Stimulus :­

The highest award for services to the development of cinema is named after__________? / िसनमेा के िवकास के
काय䬀䬄 के िलए सव䬀䬄̃म परुЧार __________ के नाम पर ह?ै

Meena Kumari / मीना कुमारी

Raj Kapoor / राज कपरू

Dada Saheb Phalke / दादा साहबे फाπे

Manoj Kumar / मनोज कुमार

Correct Answer :­Dada Saheb Phalke / दादा साहबे फाπे 

21)



Question Stimulus :­

Find the odd one / िवषम को पहचािनए

Charsath Yogini / चरэ थ योिगनी

Matangeshwar / मातागंъे वर

Lalgun Mahadev / लालगनु महादवे

Rana Pratap / राणा ĸताप

Correct Answer :­Rana Pratap / राणा ĸताप 

22)

Question Stimulus :­

In 2003, METSAT, or India’s meteorological series of satellites, was renamed after whom? / 2003 मg, मटेसटै, या
भारतीय मौसम उपगहृ mखंला, िकसके नाम पर ह?ै

Rakesh Sharma / राकेश शमाᤀ漄

Kalpana Chawla / कώना चावला

Edmund Hillary / एडमडं िहलारी

Arundhati Roy / अħंधती रॉय

Correct Answer :­Kalpana Chawla / कώना चावला 

23)

Question Stimulus :­

The tallest minaret in India is / भारत मg सबस ेऊंची मीनार ह:ै

Fateh Burj / फ़तहे बजुᤀ漄

Chand Minar / चादँ मीनार

Qutub Minar / क़ुतबु मीनार

Char Minar / चार मीनार

Correct Answer :­Qutub Minar / क़ुतबु मीनार 

24)

Question Stimulus :­



Who served as the Chairman of the Rajya Sabha for two terms? / िकसन ेरा伀稁सभा अⰂ䤀퐅 के iप मg दो बार कायᤀ漄
िकया था?

Dr. S. Radhakrishnan / डॉ. एस. राधाकृСन

Jawaharlal Nehru / जवाहरलाल नहेi

Vallabhbhai Patel / व紀␂भ भाई पटले

Dr. B.R. Ambedkar / डॉ. बी.आर. अ䀈डेकर

Correct Answer :­Dr. S. Radhakrishnan / डॉ. एस. राधाकृСन 

25)

Question Stimulus :­

Which of these states does not have a single UNESCO World Heritage site? / इन रा伀稁ो ंमg स ेिकस रा伀稁 मg एकल
यनूЧेो िवЌ धरोहर эथल नही ंह?ै

Maharashtra / महाराЊᤀᘅ

Uttar Pradesh / उ̃र ĸदशे

Bihar / िबहार

Nagaland / नागालġड

Correct Answer :­Nagaland / नागालġड 

26)

Question Stimulus :­

Berry is the wife of Arnold. Cathy is the niece of Berry. Depp is Berry's brother. How is Depp related to Arnold? / बरेी
अन䬀䬄ϋ की प洃ी ह।ै कैथी बरेी की भतीजी ह।ै डपे बरेी का भाई ह।ै डपे अन䬀䬄ϋ स ेकैस ेसबंिंधत ह?ै

Sister / बहन

Mother / माता

Daughter / बटेी

Daughter‐in‐law / बî

Correct Answer :­Daughter / बटेी 

27)

Question Stimulus :­



Following are the three views of a cube. Which of the following op㘇ਇons is opposite to the face containing C? / िनη घन
के तीन 〄だЇ हġ| िनη मg स ेकौन स ेिवकώ C वाल ेफलक के िवपरीत ह?ै

F

D

A

E

Correct Answer :­F 

28)

Question Stimulus :­

Whose birthday on November 19 is observed as National Integration Day in India? / नव䀈र 19 को िकसका
जΥिदवस भारत मg राЊᤀᘅीय समाकलन िदवस के iप मg दखेा जाता ह?ै

Jawaharlal Nehru / जवाहरलाल नहेi

Indira Gandhi / इिंदरा गाधँी

Mahatma Gandhi / महा渃ा गाधँी

S. Radhakrishnan / एस. राधाकृСन

Correct Answer :­Indira Gandhi / इिंदरा गाधँी 

29)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकώ
चिुनए,जो तकᤀ漄 की 〄だिЊ स ेनीच ेिदए गए कथन के समान ह ै:

If Ram plays cricket, then the team will win. / यिद राम िïकेट खलेता ह,ै तो टीम जीतगेी।

If Ram doesn’t play cricket, then the team will not win. / यिद राम िïकेट नही ंखलेता ह,ै तो टीम
नही ंजीतगेी।

The team won. Ram played the cricket. / टीम जीत गई। राम न ेिïकेट खलेा था।



If the team lost, then Ram didn’t play the cricket. / यिद टीम हार गई, तो राम न ेिïकेट नही ंखलेा
था।

If Ram doesn’t play cricket, then the team will win. / यिद राम िïकेट नही ंखलेता ह,ै तो टीम
जीतगेी।

Correct Answer :­If the team lost, then Ram didn’t play the cricket. / यिद टीम हार गई, तो राम ने
िïकेट नही ंखलेा था। 

30)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए जो िदए गए कथनो ंएवं
िनМष䬀䬄 के बारे मg सही ह।ै

Statements:  /  कथन:

All cameras are tools  /  सभी कैमरा उपकरण हġ।

All tools are garments  /  सभी उपकरण वЮ हġ।

 

Conclusions:  /  िनМषᤀ漄:

I. All cameras are garments  /  सभी कैमरा वЮ हġ।

II. All garments are cameras / सभी वЮ कैमरा हġ।

Only conclusion I follows / केवल िनМषᤀ漄 I िनकलता है

Only conclusion II follows / केवल िनМषᤀ漄 II िनकलता है

Both conclusion I and II follows / दोनो ंिनМषᤀ漄 I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМषᤀ漄 I या II मg स ेकोई  नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िनМषᤀ漄 I िनकलता ह ै

31)

Question Stimulus :­

The “Chandan Katona” is located at Orchha, It is a__________. / "चदंन कटोना" ओरछा मg ᤀ漄эथत ह,ै यह एक
_______ह।ै

Cave built by the Chynadella rulers /  चदंले शासको ं¸ारा िनिमᤀ漄त गफुा

Temple of lord Shiva /  भगवान िशव के मिंदर



Fountain which supplies water to the royal residence / शाही िनवास की पानी की आपिूतᤀ漄 करन ेके िलए फाउटंने

A flower garden that supplies flower to the rulers / शासको ंके िलए फूल ह ैिक आपिूतᤀ漄 एक फूल बगीचा

Correct Answer :­Fountain which supplies water to the royal residence / शाही िनवास की पानी की आपिूतᤀ漄
करन ेके िलए फाउटंने 

32)

Question Stimulus :­

Which state in India has the maximum number of districts? / भारत मg िकस रा伀稁 मg सबस े伀稁ादा िजल ेहġ?

Tamil Nadu / तिमलनाडु

Uttar Pradesh / उ̃र ĸदशे

Goa / गोवा

Manipur / मिणपरु

Correct Answer :­Uttar Pradesh / उ̃र ĸदशे 

33)

Question Stimulus :­

If its cookie or coffee then you get mileage. You don’t get mileage then neither was it
a cookie nor it was coffee. / अगर यह िबЧुट या कॉफ़ी ह ैतो आपको माइलजे िमलता ह।ै आपको माइलजे
नही ंिमलता ह ैतो यह न तो िबЧुट था न ही कॉफ़ी थी।

True / सही

False / गलत

Maybe / हो सकता है

Irrelevant / अĸासिंगक

Correct Answer :­True / सही 

34)

Question Stimulus :­

The only Eco tourism site in Bhopal is / भोपाल मg एकमाj पाᤀ漄र­पयᤀ漄टन э थल है

Kolar dam / कोलार बाधं

Rajghat dam / राजघाट बाधं



Kerwa dam / केरवा बाधं

Halahi dam / हलाही बाधं

Correct Answer :­Kerwa dam / केरवा बाधं 

35)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМष䬀䬄 के बारे मg सही ह।ै

Statements:  /  कथन:

All gums are cups.  /  सभी मसड़ू ेकप हġ।

Some powders are gums.  /  कुछ पाउडर मसड़ू ेहġ।

Conclusions:  /  िनМषᤀ漄:

 I. All powders are cups.  /  सभी पाउडर कप हġ।

II. Some cups are powder. / कुछ कप पाउडर हġ।

Only conclusion I follows / केवल िनМषᤀ漄 I िनकलता है

Only conclusion II follows / केवल िनМषᤀ漄 II िनकलता है

Both conclusion I and II follows / दोनो ंिनМषᤀ漄 I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМषᤀ漄 I या II मg स ेकोई  नही ंिनकलता है

Correct Answer :­Only conclusion II follows / केवल िनМषᤀ漄 II िनकलता ह ै

36)

Question Stimulus :­

A call centre operates between India, Japan and US. India is 12 hrs ahead of US, and 6 hrs
ahead of Japan, while Japan is 6hrs ahead of US. India works between 10 AM till 10 PM,
where as US works from 8 AM till 8 PM and Japan works from 9AM to 9PM. / भारत, जापान और
अमᤀे漄रका के बीच एक कॉल सgटर चलता ह।ै भारत 12 घटं ेअमᤀे漄रका स ेआग ेह,ै और 6 घटं ेजापान स ेआग ेह,ै जबिक जापान
6 घटं ेअमᤀे漄रका स ेआग ेह।ै भारत सबुह 10 बज ेस ेरात 10 बज ेतक काम करता ह ैजबिक अमरीका सबुह 8 बज ेस ेरात 8
बज ेतक काम करता ह ैऔर जापान सबुह 9 बज ेस ेरात 9 बज ेतक काम करता ह।ै

A conference is to be held between US and India. What should be the earliest possible time
when US can initiate the conference with India? / अमᤀे漄रका और भारत के बीच एक काlँgस आयोिजत की
जा रही ह।ै जψ स ेजψ वह सभंव समय कौन सा ह,ै जब अमरीका भारत के साथ काlँgस शiु कर सकता ह?ै

8 AM US local 㘇ਇme / सबुह 8 बज ेय ूएस का эथानीय समय



9 AM US local 㘇ਇme / सबुह 9 बज ेय ूएस का эथानीय समय

10 AM US local 㘇ਇme / सबुह 10 बज ेय ूएस का эथानीय समय

11 AM US local 㘇ਇme / सबुह 11 बज ेय ूएस का эथानीय समय

Correct Answer :­8 AM US local 㘇ਇme / सबुह 8 बज ेय ूएस का эथानीय समय 

37)

Question Stimulus :­

Among the five villages, Madgaon is smaller than Rajgaon. Chadgaon is larger than
Sudgaon and Birgaon is larger than Rajgaon, but not as larger as Sudgaon. Which is the
largest village? / पाचँ गावँो ंमg स ेमदगावँ, राजगावँ स ेछोटा ह।ै छदगावँ, सदगावँ स ेबड़ा ह ैऔर बीरगावँ, राजगावँ से
बड़ा ह,ै पर सदगावँ जसैा बड़ा नही ंह।ै सबस ेबड़ा गावँ कौन सा ह?ै

Madgaon / मदगावँ

Rajgaon / राजगावँ

Chadgaon / छदगावँ

Sudgaon / सदगावँ

Correct Answer :­Chadgaon / छदगावँ 

38)

Question Stimulus :­

Madhubani style of paintings is famous in / मधबुनी शलैी की िचjकलाएं यहा ँĸिसᔄ हġ:

Uttar Pradesh /उ̃र ĸदशे

Madhya Pradhesh / मⰂ ĸदशे

Punjab / पजंाब

Bihar / िबहार

Correct Answer :­Bihar / िबहार 

39)

Question Stimulus :­

A dispute relating to the election of the President of India shall be referred to ­ / भारत के राЊपित के चयन स ेजड़ुे
िकसी भी िववाद को कहा ँसदंिभᤀ漄त िकया जाता ह ै­



Election Commission / चनुाव आयोग

Parliament / ससंद

Supreme Court / उŵतम Ύायालय

Union Cabinet / सघं कैिबनटे

Correct Answer :­Supreme Court / उŵतम Ύायालय 

40)

Question Stimulus :­

Through which one of the following states does the Konkan railway not pass? / िनηिलᤀ漄खत रा伀稁ो ंमg स ेिकसमे
कोकंण रेलव ेनही ंगज़ुरता ह?ै

Maharashtra / महाराЊᤀᘅ

Goa / गोवा

Karnataka / कनाᤀ漄टक

Kerala / केरल

Correct Answer :­Kerala / केरल 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

In a certain code language  ‘Friends are good’  is written as  ‘gont hop feka’  
and    ‘Good bye doctor’ is written as ‘ fip hop sek’ . In that code language the
word for ‘good’ is: / िकसी खास कोड भाषा मg, ‘Friends are good’ को  ‘gont hop feka’ और ‘Good
bye doctor’ को ‘ fip hop sek’ म ेिलखा ह|ै उसी कोड भाषा मg ‘good’ के िलए श一稃 ह:ै

sek

hop

feka

fip

Correct Answer :­hop 

2)

Question Stimulus :­



In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय ेïम मg अगली आकृित
कौन सी होगी?

Correct Answer :­  

3)

Question Stimulus :­

The price of rice was Rs 16 per kg last year. It has gone up by 25%. The price now is: / िपछल ेवषᤀ漄 चावल की
कीमत 16 i० ĸित िकलो थी| यह 25% ऊपर चला गया ह।ै अब कीमत ह:ै

4

20

12

41

Correct Answer :­20 

4)

Question Stimulus :­



The invoice number of the supply of chemicals from ICI Ltd to Asian Paints Ltd is: / आई सी
आई िलिमटडे स ेलकेर एिशयन पgटस् िलिमटडे तक के रसायन के सभंरण की चालान सᜀं꼄ा हġ:

ICI:APL/566:b/77650438754870178:QII:South: 785400348701

Compare it with the following and identify which of them has exactly one mistake. / िनη के साथ तलुना करg एवं
पहचानg िक इनमg स ेिकसमg माj एक गलती ह।ै

ICI:APL/566:d/77650438754870178:QII:Soath: 785400348701

ICI:APL/566:b/77650438754870178:QII:South: 785400348701

ICI:APL/566:b/77650438754870478:QII:South: 785400348701

ICI:APL/566:b/77650438758470178:QII:South: 785400348701

Correct Answer :­ICI:APL/566:b/77650438754870478:QII:South: 785400348701 

5)

Question Stimulus :­

Hema bought mangoes at the rate of Rs. 60 a dozen. She sold them at Rs. 60 for eight. What was her percentage of
profit? / हमेा 60 i० के दर स ेएक दजᤀ漄न आम खरीदती ह।ै उनमg स ेआठ आम उसन े60 i० मg बचे िदया। उसके लाभ
की ĸितशतता sा थी?

50

25

2.5

0

Correct Answer :­50 

6)

Question Stimulus :­

0.73 x 0.73 – 2 x 0.73 x  0.23 + 0.23 x 0.23 = ?

2.5

0.5

0.25

0.125



Correct Answer :­0.25 

7)

Question Stimulus :­

Evaluate: / म·ूाकंन करg:  1014 x 986.

998904

999804

998814

998804

Correct Answer :­999804 

8)

Question Stimulus :­

Complete the series choosing the missing number: / िवलꀄु灀 सᜀं꼄ा चनुकर mखंला को परूा कीिजए :

 1,2,3,4,4,5,6,7,8,8,10,11,____

9

11

13

12

Correct Answer :­12 

9)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनη ĸЍ मg, सᜀं꼄ा mखंला मg एक पद गलत ह|ै गलत पद 倀ꔃात कीिजय|े  60,48,38,28,24,20,18

18

24

28

60



Correct Answer :­28 

10)

Question Stimulus :­

A pays 12% of his total income as towards income tax. His total income is Rs. 25000, deductions towards PF, housing
loan etc amount to Rs. 4,000 and spends Rs. 12000. He saves the rest. What percentage of his total income does he
save? / A अपनी कुल आय का 12% आयकर के iप मg भगुतान करता ह|ै उसकी कुल आय 25000 iपए ह,ै पीएफ, आवास
ऋण आिद रािश की कटौती 4000 iपए एव ंखचᤀ漄 12000 iपए| बािक की वह बचत करता ह|ै कुल आय का िकतना ĸितशत वह
बचत करता ह?ै

24%

25%

20%

30%

Correct Answer :­24% 

11)

Question Stimulus :­

According to Lala Charanjit’s will, 45% of his assets would go to his widow, 35% to is daughter and the remaining to
his son. If the son’s share is Rs. 4 lacs, how much is his daughter’s share? / लाला चरणजीत की इẅा के अनसुार, उनकी
सपंि̃ का 45% उनकी िवधवा के िलए, 35% बटेी के िलए एव ंशषे उनके बटे ेके िलए होगा। यिद बटे ेके अशं मg 4 लाख
ħपय ेह,ै तो उनकी बटेी का अशं िकतना ह?ै

Rs. 7 lacs / 7 लाख

Rs. 9 lacs / 9 लाख

Rs. 7½  lacs / 7½  लाख

Rs. 10 lacs / 10 लाख

Correct Answer :­Rs. 7 lacs / 7 लाख 

12)

Question Stimulus :­

P and Q can do a piece of work in 20 days.  P alone can do 1/5th of the work in 12 days. In
how many days can Q alone do the work? / P और Q िकसी कायᤀ漄 को 20 िदनो ंमg परूा कर सकत ेहġ| P
अकेल ेकाम का 1/5 िह䨀阃ा 12 िदनो ंमg कर सकता ह|ै Q अकेल ेकायᤀ漄 को िकतन ेिदनो ंमg परूा कर सकता ह?ै

20 days / 20 िदन



24 days / 24 िदन

30 days / 30 िदन

36 days / 36 िदन

Correct Answer :­30 days / 30 िदन 

13)

Question Stimulus :­

65% of __________ is 260. / _________का 65% ह ै260

225

250

300

400

Correct Answer :­400 

14)

Question Stimulus :­

Fill in the blank: 16% of a number is 288. That number would be … % of 4800. / ᤀ漄रő эथान को भरg: एक सᜀं꼄ा
का 16% 288 ह|ै वह सᜀं꼄ा 4800 का .....% होगा|

37½

60

6

75

Correct Answer :­37½ 

15)

Question Stimulus :­

Complete the series choosing the missing number: / िवलꀄु灀 सᜀं꼄ा चनुकर mखंला को परूा कीिज:

 1,5,10,16,23,31, ___

38



50

39

40

Correct Answer :­40 

16)

Question Stimulus :­

Simplify the ra㘇ਇo 24:16:56. / 24:16:56 अनपुात को सरल कीिजय|े

2:4:6

3:1:6

3:2:7

6:4:9

Correct Answer :­3:2:7 

17)

Question Stimulus :­

If GOLD is coded as HPME, how is IRON coded? / यिद GOLD को HPME स ेकोिडत िकया जाता ह,ै तो IRON
को कैस ेकोिडत िकया जाता ह?ै

JKLM

JSTU

JSPO

JTUV

Correct Answer :­JSPO 

18)

Question Stimulus :­

In a certain code  ‘ Hold the line’  is written as ‘ hode fen ge’  ;   ‘ Pass the
message’ is written as ‘ fen mesta goka’  and   ‘ Draw a line ‘ is written as 
‘Hode waj diba’ . In that code the word for  ‘hold’  is: / िकसी खास कोड मg, ‘ Hold the
line’ को ‘ hode fen ge’ म ेिलखा ह ै; ‘ Pass the message’ को ‘ fen mesta goka’ म ेिलखा ह ैऔर ‘ Draw
a line’ को ‘Hode waj diba’   म ेिलखा ह|ै उसी कोड मg  ‘hold’ के िलए श一稃 ह:ै



hode

ge

fen

diba

Correct Answer :­ge 

19)

Question Stimulus :­

In a certain code language  ‘ King is brave’ is written as  ‘ ge dest axob’ and   ‘
Our brave soldiers’ is written as ‘ dest dosta cesk’ . In that code language  the
word for   ‘brave’ is: / िकसी खास कोड भाषा मg, ‘ King is brave’ को ‘ ge dest axob’  और ‘ Our
brave soldiers’ को ‘ dest dosta cesk’ म ेिलखा ह|ै उसी कोड भाषा मg ‘brave’ के िलए श一稃 ह:ै

dosta

cesk

dest

axob

Correct Answer :­dest 

20)

Question Stimulus :­

Binay can do a piece of work in 5 days and Farhan can do it in 4 days. How long will they take to do the
same work, if they work together? / िबनये िकसी कायᤀ漄 को 5 िदनो ंमg परूा कर सकता ह ैऔर फरहानँ उस े4 िदन मg परूा
कर सकता ह ैयिद व ेसाथ काम करg, तो उसी कायᤀ漄 को परूा करन ेमg उΨg िकतना समय लगगेा?

1 1/2 days / 1 1/2 िदन

2 2/9 days / 2 2/9 िदन

3 1/6 days / 3 1/6 िदन

5 3/8 days / 5 3/8 िदन

Correct Answer :­2 2/9 days / 2 2/9 िदन 

21)

Question Stimulus :­



Complete the series choosing the missing letter/s: / िवलꀄु灀 अ䤀퐅र चनुकर mखंला को परूा कीिजए  :_
qrr _ pr _ ppqq  _ pq _ rr

ppqrp

pqprp

qprpq

qrprp

Correct Answer :­qprpq 

22)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय ेïम मg अगली आकृित
कौन सी होगी?

Correct Answer :­  

23)



Question Stimulus :­

The mirror images of four words are shown below. The spelling of one of the words is wrong. Which one? / चार श一稃ों
के दपᤀ漄ण ĸितिबबं नीच ेिदखाए गए हġ| इनमg स ेएक श一稃 की वतᤀ漄नी गलत ह|ै वह कौन ह?ै

Correct Answer :­  

24)

Question Stimulus :­

If CLERK is coded as ENGTM, how is TABLE coded? / यिद CLERK को ENGTM स ेकोिडत िकया जाता ह,ै तो
TABLE को कैस ेकोिडत िकया जाता ह?ै

VCDNG

VDFOI

VFSUW

VGISU

Correct Answer :­VCDNG 

25)

Question Stimulus :­

A man gains 10% by selling a computer for Rs. 14960. What is his gain if he had sold it at 15% profit? / एक आदमी
एक कу蘀較टूर 14960 i० मg बचे कर 10% वᤀृ漄ᔄ करता ह?ै यिद उसन ेइस े15% लाभ पर बचेा होता तो वह िकतनी वᤀृ漄ᔄ
करता?



2040

1360

680

2720

Correct Answer :­2040 

26)

Question Stimulus :­

Complete the series choosing the missing letter/s: / िवलꀄु灀 अ䤀퐅र चनुकर mखंला को परूा कीिजए  :z _
yyy _  _ xyyyy _ xyyy _

Xxyzy

xyzzy

xyxzy

yxzyy

Correct Answer :­xyzzy 

27)

Question Stimulus :­

Simplify the ratio 21:42:63. / अनपुात 21:42:63 को सरल कीिजय|े

1:2:4

2:4:7

1:4:9

3:6:9

Correct Answer :­3:6:9 

28)

Question Stimulus :­

[4­2a+5b­(a­b)]­[5a­(3a­(4a+b))] is equal to / [4­2a+5b­(a­b)]­[5a­(3a­(4a+b))] बराबर
ह ैइसके



4­9a+5b

5­9a+4b

0

None of these / इनमg स ेकोई नहीं

Correct Answer :­4­9a+5b 

29)

Question Stimulus :­

A farmer gets 12% profit by selling a cartload of rice for Rs. 9856. He incurs 12% loss he incurs by selling the
same quantity of wheat for the same amount. What is his total profit or loss? / एक िकसान चावल के एक छकड़ा
भर की िबïी 9856 ħपय ेमg करके 12% लाभ ĸाꀄ灀 करता ह।ै गĩे ंकी समान माjा समान म·ू पर बचेकर वह
12% की हािन झलेता ह|ै उसका कुल लाभ अथवा हािन sा ह?ै

1.44% profit / 1.44% लाभ

1.44% loss / 1.44% हािन

2.88% profit / 2.88% लाभ

No profit, no loss/ ना लाभ, ना हािन

Correct Answer :­1.44% loss / 1.44% हािन 

30)

Question Stimulus :­

Niranjan’s account number is 478008744705928 and netbanking password is PSR4635L.Check which of the
following is the same as these. / िनरंजन का खाता सᜀं꼄ा 478008744705928 एव ंनटेबġिकंग पासवडᤀ漄 PSR4635L ह।ै जाचँ
करg िक िनη मg स ेकौन इनके समान हġ।

478008744705928, PSR4635L

4780087474705928, PRS4635L

478080744705928, PSR4653L

478007844705928, PSR6435L

Correct Answer :­478008744705928, PSR4635L 

Topic:­ Science and Simple Arithmetic
1)



Name / नाम

Rank in
11th
standard /
क䌃䌂ा 11 म䉵䉴
⩖䐠थान 

Rank in
12th
standard /
क䌃䌂ा 12 म䉵䉴
⩖䐠थान

 
Abhilash / अिभलाष 4 3
Bhuvan / भवुन 2 2
Chandra / च䑤䏙ा 3 7
Devi / दवेी 1 8
Gowri / गौरी 6 6
Akhila / अ䉣䉄खल 10 10
Antara / अ䏊䏉रा 5 1
Sridevi / 䋏䋎ीदवेी 8 4
Lewis / लईुस 9 9
Lokesh / लोकेश 7 5

Question Stimulus :­

Use the following information to answer the question/ ĸЍ के उ̃र दने ेके िलए नीच ेदी गई जानकारी
का ĸयोग करg।

Ranking of 10 students in a class in 11th standard and 12th standard/ क䤀퐅ा 11 और क䤀퐅ा 12 के
10 छाjो ंकी mिेणयां

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many students did not change in their rankings? / िकतन ेछाjो ंकी mिेणया ंनही ंबदली हġ?

2 

3  



4

6

Correct Answer :­4 

2)

Question Stimulus :­

Mother cut a sheet of paper into 10 pieces. She then took one piece of it and cut it into 10
pieces. She then repeated this three more times.  If so the total number of cut pieces is
equal to _______________ / माता न ेकागज के सीट को 10 टकुड़ो ंमg काटा। िफर उनमg स ेउसन ेएक टकुड़ा
िलया एव ंउस े10 टकुड़ो ंमg काटा। इस ेउΨोनं ेतीन बार और िकया। ऐसा करन ेस ेकाट ेगए टकुड़ ेकी कुल सᜀं꼄ा
__________ के समान ह।ै

40

46

50

56

Correct Answer :­46 

3)

Question Stimulus :­

The urinary opening at the end of muscular tube is called  /  पशेी निलका के अतं मg मjूीय िछĵ
कहलाता है

Urethra / मjूमागᤀ漄

Penis / िशशन

Ureter / मjूवािहनी

Anus / गदुा

Correct Answer :­Urethra / मjूमागᤀ漄 

4)

Question Stimulus :­

The locus of a point, equidistant from 2 given point, is __________. / िदए गए दो िबदंओु ंस ेसमान दूरी पर ᤀ漄эथत िबदं ुका
िबदंपुथ ____________ ह।ै



a straight line parallel to the line segment joining the 2 points. / दो िबќदुओ ंको जोड़न ेवाल ेरेखाखडं के समातंर
सीधी रेखा

a circle in which the line segment joining the 2 points is the diameter. / वह वतृ िजसम ेिक दो िबќदुओ ंको जोड़ने
वाला रेखाखडं उस वतृ का Ґास है

the perpendicular bisectors of the line segment joining the 2 points. / दो िबќदुओ ंको जोड़न ेवाल ेरेखाखˆ का
ल䀈ि¸भाजक

a straight line forming on angle 450 with the line segment joining
the 2 points. / दो िबќदुओ ंको जोड़न ेवाल ेरेखाखडं के साथ 450 का कोण बनाने
वाली सीधी रेखा

Correct Answer :­the perpendicular bisectors of the line segment joining the 2 points. / दो िबќदुओ ंको जोड़ने
वाल ेरेखाखˆ का ल䀈ि¸भाजक 

5)

Question Stimulus :­

The soil is turned and loosened which allows the roots to penetrate deep into the soil. Why should the roots penetrate
deeply into the soil? / मदृा को पलट कर उस ेढीला िकया जाता ह ैजो िक जड़ो ंको मदृा की गहराई मg घसुन ेकी
अनमुित दतेी ह।ै जड़ो ंको मदृा की गहराई मg sो ंघसुना चािहए?

The loosened soil allows the roots to breathe easily. / ढीली मदृा स ेजड़g आसानी स ेसासँ ल ेपाती हġ।

The loosened soil helps in the growth of earthworms and microbes. / ढीली मदृा कgचएु और सßूजीिवयो ंके
िवकास मg सहायता करती ह।ै

The top layer of the soil supports plant growth, as it is nutrient rich. / मदृा की ऊपरी परत पौधो ंकी वᤀृ漄ᔄ मg
सहायता करती ह,ै sोिंक इसमg पोषक त̆ अिधक होत ेहġ।

All of the above / उपरोő सभी ।

Correct Answer :­All of the above / उपरोő सभी । 

6)

Question Stimulus :­

Evaluate    / का मान होगा :

1

7

2



0

Correct Answer :­0 

7)

Question Stimulus :­

2% of 25 is 25% of? / 25 का 2%, िकसका 25% ह ै:

200

25/100

2

0.02

Correct Answer :­2 

8)

Question Stimulus :­

Photosynthesis will NOT occur in the absence of which of the following? / िनη मg स ेिकसकी अनपुᤀ漄эथित मg ĸकाश
सКंषेण की ĸिïया घिटत नही ंहोगी?

Guard cells  / ¸ार­कोिशका

Chlorophyll / पणᤀ漄हᤀ漄रत

Vacuole / ᤀ漄रᤀ漄őका

Space between cells / कोिशकाओ ंके बीच का эथान

Correct Answer :­Chlorophyll / पणᤀ漄हᤀ漄रत 

9)

Question Stimulus :­

CANCELLED

Find the curved surface area of the cylinder which has height 7 cm and radius of the base 2 cm. / उस बलेन का वï पПृ
䤀퐅jेफल 倀ꔃात कीिजए िजसकी ऊँचाई 7 समेी ह ैऔर आधार की िj伀稁ा 2 समेी ह।ै

44 cm3 / 44  समेी 3

88 cm3 / 88  समेी 3



98 cm3 / 98  समेी 3

22 cm3 / 22  समेी 3

Correct Answer :­44 cm3 / 44  समेी 3 

10)

Question Stimulus :­

A bus travels 54 km in 90 minutes. The speed of the bus is / एक बस 90 िमनट मg 54 िक०मी० सफर तय करता ह|ै
बस की गित है

0.6m/s

10m/s

5.4m/s

3.6m/s

Correct Answer :­10m/s 

11)

Question Stimulus :­

Dough made with maida, yeast, sugar and warm water rises or puffs up because / मदैा, खमीर, शóर और गमᤀ漄
पानी स ेगुंथा गया आटा उठ जाता ह ैया फूल जाता ह ैsोिंक

Yeast multiply and produce alcohol /  खमीर सवंधᤀ漄न करता ह ैऔर एπोहॉल उ̈Ό करता है

Yeast multiply and produce acid / खमीर सवंधᤀ漄न करता ह ैऔर अμ उ̈Ό करता है

CO2 produced by yeast fill the dough / खमीर ¸ारा उ̈Ό CO2 आट ेमg भर जाती है

Maida swells up when water is added / पानी िमलान ेपर मदैा फूल जाता है

Correct Answer :­CO2 produced by yeast fill the dough / खमीर ¸ारा उ̈Ό CO2 आट ेमg भर जाती ह ै

12)

Question Stimulus :­

A hot water bath or massage can relieve muscle cramps. Give reason. / एक गमᤀ漄 पानी स ेꀄ灀ान या मािलश
मासंपिेशयो ंमg ऐठंन दूर कर सकती ह।ै कारण दीिजए।

Heat makes the person more comfortable / गमᤀ䔅 Ґᤀ漄ő को अिधक सहज बनाती है

The balm used for massaging might have helped / मािलश के दौरान उपयोग िकया लपे सहायता कर सकता है



The blood supply to the affected area is improved by massage or heat / मसाज या गमᤀ䔅 स ेĸभािवत िह䨀阃 ेमg
रő आपिूतᤀ漄 को सधुारती है

The relief experienced is a false feeling / आराम का अनभुव एक िम̊ा अनभुिूत है

Correct Answer :­The blood supply to the affected area is improved by massage or heat / मसाज या गमᤀ䔅 से
ĸभािवत िह䨀阃 ेमg रő आपिूतᤀ漄 को सधुारती ह ै

13)

Question Stimulus :­

If (a + b) = 2, (a – b) = 3, then find (a2 + b2). / यिद (a + b) = 2, (a – b) = 3, तब (a2 + b2)
िनकािलए।

13/2

26/2

26

12

Correct Answer :­13/2 

14)

Question Stimulus :­

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) /  नीच ेिदए गय ेचार ĸЍो ंके िलए िनदĝश  नीचे
िदए गय ेĭाफ का अⰂयन करg और ĸЍो ंका उ̃र दg। उ̃रो ंके िलए अनमुािनत म·ूो ंपर िवचार करg।

 

 

 



 

In which year highest number of boys a⼄嬁ended school? / िकस वषᤀ漄 मg सबस ेअिधक लड़के िव̇ालय मg उपᤀ漄эथत îए?

1987

1988

1985  

1981

Correct Answer :­1985   

15)

Question Stimulus :­

Common cold spreads fast when an infected person sneezes openly. What can be the reason? / सामाΎ ज़खुाम
सïंिमत Ґᤀ漄ő के खलु ेमg छीकंन ेस ेतज़ेी स ेफैलता ह।ै इसका sा कारण हो सकता ह?ै

Droplets of saliva spreads around and reach other people / लार की बूंदg चारो ंओर फैलती हġ और अΎ लोगों
तक पîचँती है

Bacteria spreads around / जीवाण ुचारो ंओर फैलत ेहġ

Fungus release spores / कवक बीजाणओु ंको िनमᤀु漄ő करती है

Virus infected cells in the droplets reach another person and multiplies / बूंदो ंमg िवषाण ुसïंिमत कोिशकाएं
अΎ Ґᤀ漄ő तक पîचँकर बढ़ती हġ

Correct Answer :­Virus infected cells in the droplets reach another person and multiplies / बूंदो ंमg िवषाणु
सïंिमत कोिशकाएं अΎ Ґᤀ漄ő तक पîचँकर बढ़ती हġ 

16)

Question Stimulus :­



Name / नाम

Rank in
11th
standard /
क䌃䌂ा 11 म䉵䉴
⩖䐠थान 

Rank in
12th
standard /
क䌃䌂ा 12 म䉵䉴
⩖䐠थान

 
Abhilash / अिभलाष 4 3
Bhuvan / भवुन 2 2
Chandra / च䑤䏙ा 3 7
Devi / दवेी 1 8
Gowri / गौरी 6 6
Akhila / अ䉣䉄खल 10 10
Antara / अ䏊䏉रा 5 1
Sridevi / 䋏䋎ीदवेी 8 4
Lewis / लईुस 9 9
Lokesh / लोकेश 7 5

Use the following information to answer the question/ ĸЍ के उ̃र दने ेके िलए नीच ेदी गई जानकारी
का ĸयोग करg।

Ranking of 10 students in a class in 11th standard and 12th standard/ क䤀퐅ा 11 और क䤀퐅ा 12 के
10 छाjो ंकी mिेणयां

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many students have improved their rankings from 11th standard to 12th standard? / िकतन ेछाjो ंन े11 वी ंक䤀퐅ा से
12 वी ंक䤀퐅ा मg अपनी mणेी को सधुारा ह?ै

2

3

4

7



Correct Answer :­4 

17)

Question Stimulus :­

Choose the CORRECT statement describing an electrical circuit with the switch in OFF position, from those
given below. / नीच ेिदए गए त̊ो ंमg स ेसही त̊ का चयन करg जो एक िवद्युत ्पᤀ漄रपथ के ᤀ漄㄀�च बदं अवэथा का वणᤀ漄न
करता ह।ै

Circuit is complete / पᤀ漄रपथ परूा हो गया है

Circuit is closed / पᤀ漄रपथ बदं हो गया है

Circuit is open / पᤀ漄रपथ खलुा है

Current flows through the circuit. / पᤀ漄रपथ स ेिवद्युत धारा गजुरती है

Correct Answer :­Circuit is open / पᤀ漄रपथ खलुा ह ै

18)

Question Stimulus :­

If A : B = 8 : 15, B : C = 5 : 8 and C : D = 4 : 5, then A : D is equal to: / यिद  A : B = 8 : 15,
B : C = 5 : 8  एव ं C : D = 4 : 5, तब A : D इसके बराबर ह ै:

8 : 10

15 : 5

4 : 15

2 : 7

Correct Answer :­4 : 15 

19)

Question Stimulus :­

Which of the following statements is false? / िनη मg स ेकौन सा कथन अस竼� ह ै?

Area of a semi­circle is double the area of a quadrant  / अधᤀ漄 वतृ का 䤀퐅jेफल चतथुाᤀᘅश के 䤀퐅jेफल
दोगनुा होता है

Area of a semi­circle is one­half of the area of the circle / अधᤀ漄वतृ का 䤀퐅jेफल वतृ के 䤀퐅jेफल का
आधा होता है



Area of a semi­circle is twice the area of the circle / अधᤀ漄वतृ का 䤀퐅jेफल वतृ के 䤀퐅jेफल का दोगनुा
होता है

Area of a quadrant is one­fourth the area of the circle / चतथुाᤀᘅश का 䤀퐅jेफल वतृ के 䤀퐅jेफल का
एक चौथाई होता है

Correct Answer :­Area of a semi­circle is twice the area of the circle / अधᤀ漄वतृ का 䤀퐅jेफल वतृ
के 䤀퐅jेफल का दोगनुा होता ह ै

20)

Question Stimulus :­

According to W.H.O, the adolescent period is from the age group / W.H.O के मतुािबक, िकशोरकालीन अविध इस आयु
स ेशiु होती है

9 to 14 years / 9 स े14 वषᤀ漄

10 to 19 years / 10 स े19 वषᤀ漄

12 to 15 years / 12 स े 15 वषᤀ漄

14 to 20 years / 14 स े20 वषᤀ漄

Correct Answer :­10 to 19 years / 10 स े19 वषᤀ漄 

21)

Question Stimulus :­

Rabi Crops include / रबी की फसलो मg शािमल हġ

Paddy & Co⼄嬁on / धान और कपास(iई)

Maize &Soya bean / मóा और सोयाबीन

Wheat & Gram / गĩे ँऔर चना

Ground nut & Paddy / मूँगफली और धान

Correct Answer :­Wheat & Gram / गĩे ँऔर चना 

22)

Question Stimulus :­

Evaluate   / का म·ुाकंन करg|



1

­1

0

2

Correct Answer :­1 

23)

Question Stimulus :­

If in a thermometer, the main divisions indicate 100 o  and 102 o respectively and there are
10 small divisions between them, each small division  indicates / यिद एक थमाᤀ漄मीटर मg, ïमशः
100o  एव ं102o मᜀु꼄 भाग को इिंगत करता ह ैएव ंउन दोनो ंके बीच 10 छोट­ेछोट ेभाग हġ, ĸ竼�के छोटा भाग इिंगत
करता है

0.5oC

0.2oC

0.1oC

0.3oC

Correct Answer :­0.2oC 

24)

Question Stimulus :­

Which one of the following is wrongly matched? / िनη मg स ेिकसका िमलान गलत ह?ै

Clay + organic matter= Paddy  /  िचकनी मदृा + जवै पदाथᤀ漄  = धान

Clay + Loam= Lentils  /   िचकनी मदृा + दमुट  =  मसरू

Sand + Loam= Cotton   /  बाल ू+ दमुट  = iई

Clay + Humus = Wheat  /  िचकनी मदृा + धरण =  गĩें

Correct Answer :­Clay + Loam= Lentils  /   िचकनी मदृा + दमुट  =  मसरू 

25)

Question Stimulus :­



The curved surface area and the volume of a cylinder are numerically same, only if the radius of the cylinder is
___________. / एक बलेन के वï पПृ 䤀퐅jेफल और आयतन के सᜀं꼄ा渃क मान समान होगं,े केवल यिद बलेन की िj伀稁ा
ह ै___________.

r = 4 units / r = 4  इकाई

r = 2 units / r = 2 इकाई

Correct Answer :­r = 2 units / r = 2 इकाई 

26)

Question Stimulus :­

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) /  नीच ेिदए गय ेचार ĸЍो ंके िलए िनदĝश  नीचे
िदए गय ेĭाफ का अⰂयन करg और ĸЍो ंका उ̃र दg। उ̃रो ंके िलए अनमुािनत म·ूो ंपर िवचार करg।

 

 

 

 

In which year there was fall in admission of the girls? / िकस वषᤀ漄 मg लड़िकयो ंकी भतᤀ䔅 मg िगरावट îई थी?

1982

1987

1986



1983

Correct Answer :­1983 

27)

Question Stimulus :­

Which of the following devices is most suitable for detec㘇ਇng the flow of very low currents? / िनη मg स ेकौन सी यᤀु漄ő
बîत कम िवद्युत धारा के ĸवाह को पता करन ेके िलए सवाᤀ漄िधक उपयőु ह?ै

Incandescent bulb / तापदीꀄ灀 लήै

Magne㘇ਇc needle / च䀈ुकीय सईु

LED / एलईडी

Voltmeter / वोυमीटर

Correct Answer :­LED / एलईडी 

28)

Question Stimulus :­

The magnifying glass is a / एक आवधᤀ漄क लgस होता है

Type of glass / काचँ का ĸकार

Plane glass / समतल काचँ

Convex lens / उ̃ल लgस

Concave lens / अवतल लgस

Correct Answer :­Convex lens / उ̃ल लgस 

29)

Question Stimulus :­

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) /  नीच ेिदए गय ेचार ĸЍो ंके िलए िनदĝश  नीचे
िदए गय ेĭाफ का अⰂयन करg और ĸЍो ंका उ̃र दg। उ̃रो ंके िलए अनमुािनत म·ूो ंपर िवचार करg।

 

 

 



 

How many more boys &girls went to school in year 1988 than 1981? / वषᤀ漄 1981 की तलुना मg
वषᤀ漄 1988 मg िकतन ेअिधक लड़के एव ंलड़िकया ंिव̇ालय गए?

15 million / 15 िमिलयन

17 million / 17 िमिलयन

18 million / 18 िमिलयन

20 million / 20 िमिलयन

Correct Answer :­15 million / 15 िमिलयन 

30)

Question Stimulus :­

Kyoto Protocol is an agreement between countries  / sोटो ĸोटोकालॅ दशेो ंके बीच मg िकसके िलए
समझौता है

To reduce nuclear warfare / परमाण ुयᔄु कम करन ेके िलए

To reduce green house gas emissions / ĭीन हाउस गसै उ鿼�जᤀ漄न कम करन ेके िलए

To decrease excessive mining of ores / अयЧो ंके अित खनन को घटान ेके िलए

To reduce the formation of  acid rain  / अμ वषाᤀ漄 के िनमाᤀ漄ण को कम करन ेके िलए

Correct Answer :­To reduce green house gas emissions / ĭीन हाउस गसै उ鿼�जᤀ漄न कम करन ेके िलए 


